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A. 2X—-6=5x+9
B. 2—4(—x +1):8x—(2x+7)
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A.2X—-6=5x+9 <
2X—-5Xx=9+6 <
-x=15<
-3x 15
337
X=-5
B. 2—-4(—x+1)=8x—(2x+7) <
2+4X -4 =8X-2X-7 &
4K —-8X+2X=—-T+4-2 &

—2X=-5&
—-2X -5
e T e
-2 -2
5
X=—
2
r 2 X+ 2 E.K.I1,(3,6)=6
——X— = —
3 6
6x—6-§x—6-x+2:_1.6<:>

6x—4x—(x+2)=—-6<
BX-4X-X-2=-b6<
6X —4X—-X=-6+2 &
X=-4
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A. — _
1—3(X 1) —E(ZX—X—ijx =

3X _ 3 2X N X — 2 E.K.IL.(4,5)=20
4 5 20

20-20X =3 _ 502X | 20X =2 _ 50
5 20

20—5(3x—3)—4-2x+x—2:20x<:>
20-15x +15-8x+Xx-2=20Xx &
15X -8x-20x+x=2-15-20 <=

42X =-33 &
-42x -33
= =
-42 42
33
X=—
42
1-13-2(x-1 _
e 1[8720Y] 8% gy
4 -6
1-(3—-2x+2 —
( all )—3 X:—2x+2<:>
4
1—3+2x—2_3—x:_2)(+2<:>
4
2X -4 B 3 —X _ _2X ) 2E.K.l‘l.c(4>,6):12
4 6
12.2x—4 3—X

125 = =-2Ux+ A e

3(2x—4)—2(3—x):—24x+24<:>
6X—-12—-6+2X=-24Xx+24 &
OX+2X+24x =24+6+12 &
22X =42 &
32x 42
— =
32 32
21
X=—
16
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